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Extending Bernoulli’s Inequality
Ronald L. Persky, Christopher Newport University, Newport News, VA 23606

The standard statement of Bernoulli’s inequality is: If x > —1 and »n is a positive
integer, then (1 + x)" > 1 + nx. Clearly for x < —2 this does not hold for large odd
values of n. What happens if —2 <x < —1? Add 1 to get

-1<1+x<0. (1)
Now multiply —2 <x < —1 by n and add 1, to obtain
1-2n<l+m<1-n. (2)

If n =1, Bernoulli’s inequality is valid for any x. For n > 2, the graph
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makes it easy to compare the location of 1 +x of (1) and 1 + nx of (2). From here
it is easy to see why (1 +x)" =1+ nx. Hence, Bernoulli’s inequality is valid for
x> -2

But Do You Like it?

This paper gives wrong solutions to trivial problems. The basic error,
however, is not new.
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